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Q:01(A) Define the following - 10
(1) Sub set of a set (ii) Equality of two sets (iii) Power set (iv) Singleton set
(v) Empty set

1 2 2 ' 10
IfA=[2 1 2| thenProvethat A>4A —5[=0.
2 21
OR
Q:01(A) If A={2,4} and B = {2,4,6} then find (1) A x B (i) A x A (iii) BxB (i) A - B 10
v)B-A :
Q:01(B) Solve the following equations using inverse matrix method. 10
X+y+z=3, x+2y+3z=6, Ix+y+2z=6.
Q:02(A) Define the following Matrices with example. 10
(i) Row Matrix (i) Null Matrix (iii) Square Matrix (iv) Unit Matrix
(v) Transpose Matrix
Q:02(B) 1. Solve the equations using cramer’s rule. 2x +5y =16 and 3x + y=11 10
1 1 -3
2. Findthe value |—1 -1 -3
-1 1 -9
OR
Q:02(A) Define the following terms. ' 10
(1) Compound Interest (ii) Annuity (iii) Smklng Fund
Q:02(B) What is an aggregate amount of %, 4000 at 12 % rate of compound interest for 3 10
years if the interest is compounded (i) annually (ii) Semi Annually.
Q:03(A) Find the equation of a line passing through the points A(x;, y1) and B(xy, y2). 10

Q:03(B) 1.In a group of students there are 4 girls and 6 boys. In how many ways a 10
committee of five members can be formed such that (i) there are at least3

girls (ii) there are at the most 3 boys, in the committee.

2. If "P,=60 7P ,_; then find the value of 1.
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Q:03(A)

Q:03(B)

Q:04(A)
Q:04(B)

Q:04(A)

Q:04(B)

Q:05(A)

Q:05(B)

Q:05(A)
Q:05(B)

OR

Estimate the value of y for x = 20 by using Newion’s Method from the following
data, '

X 14 18 22 26 30
y- 30 35 42 -1 51 | 62

L4 .
Find ﬁ of the following.
xi46x +5
xi—4x -5

() y=x"+2¢-52+Tx -3 (i) y=

Write the assumptions and uses of interpolation and extrapolation.

Define differentiation and State its rules .
OR

Solve the following LPP using graphical method.
Z maximum, = 70x + 100y
Subject to : 3x + 4y <2100, 4x + 3y <2100, x <450,y <450,x,y =0

Solve the following transportation problem by North-West corner method.

Origin . Source _ :
D E F G Supply

A 19 30 50 10 50

B 70 30 40 60 90

C 40 8 70 20 60

Demand 50 60 50 40 200

1. Obtain the equation of a line having slope m and making intercept ‘C’ on y- axis.

2, Find the equation of the line having slope % and passing through the point (3, -2).

Find maximum and minimum values of the following function.
y=x3+6x2—15x+7.
OR

Explain Properties of determinant,

What is mean by Linear Programming? State assumptions and uses of L.P.

10

16

10
10

10

10

10

10

10
10




Seat No. No. of Printed Page: 02,

- SARDAR PATEL UNIVERSITY
F.Y.B.COM.(EXTERNAL) EXAMINATION
, UBERICCOMO3 — Business Mathematics
Date: Wednesday,3" May,2023

Time: 10.00 A.M. TG 01.00 P.M. Total Marks: 100
QO {13 ol caproal 2l ' 10

(i) GY 9LEL (if) MLl ABL (i) Bl 9L (iv) lsisl o (v) vl

Qorewy .t 2 2 N 10
sil A=l2 1 2| <iadl wid K% AP —4A - 51=0. \
2 2 1

SOETH
Q:01(2) &l A={24} ¥4 B={2,4,6} Al AxB (i) AxA(il) BxB (ivyA-B 10
(V)B—A it

Q:01(¢t) Al wallsull cara sl L <Ad Gsel. ' 10
x+y+z 3, x+2y+3z=6, 3x+y+2z=6. '

Q020 -3 Al Geusan udla careniBia 53, 10
' e Alks (D) g Al G AR &Fgw (iv) ¥isi sl (v) ula atfg:,s
Q:02(ct) 1. Wl '%u.zr{l Ad Gl 2x +5y =16 »d 3x+y=11. 10
, N 1 1 -3
2. Budaibi -1 -1 -3
-1 1 -9
YAl |
Q:02(1) <[l WLl urval il | 10

() a9l sy (i) Al (it Q{rém 38,

Q:02(6) . 4000 «f AstElL 12 % cAsy<il €2 safRH sy s2ami 2098 dl 3 a4 ey Seat gaL . 10
i, 671 ctoy<fl otgtetdl (i) Ay {REL (i) iAol Hirgl sl 2ud,

Q:03(2t) [Bigall A(xy,yn) 214 B(xa, y2) ditll urtiz udl 3qRuii wellse wiHl. 10
Q:03(c1) 1. 35 Uyl 4 Pisdoll 2 6 Disull B.duidl 5 Al s@mA seel us2 oindl usin 10

3 v (i) ezt e Sisdedl din (i) aguiay e sisusil ¢,
2. 7P, =60 P, y <indir-l Exa sl

Ot Getiany

(%)




Q:03(2t)

Q:03(ct)

Q:04(0)
Q:04(ct)

Q:04(21)

Q:04(ct)

Q:05(+Y)

Q:05(c1)

Q:05()
Q:05(e)

e

<{13d] wiledl weell x = 20 W2 AeAed] Ad-Al Gudiot 54l y o A 1.

X 14 | 18 [ 22 1 26 | 30
y [ 30 [ 35 | 221 51 | &2

AL uEe % shiHl,
2t 6x+5
X243 —~§

(1) y:x4+2x3—5x2+7x—3 (i) y=

S =

whed et v ollgdae <l HiRpuil i Guail avil.

L

[Aseietedl carvar 23] det Q] ealdi.
BEEELT)

1AL 2w, 2ulsy Ul Biiciuidl A Gidl.

Wl :3x + 4y <2100, 4x + 3y <2100, x <450,y <450, %,y > 0.

LAl dtgtenagir AL uradl Get atdey v - 9d GidL

Grotal WLt 221

224, D E F G | wasl
A 19 30 50 10 50
B 70 30 40 60 90
C 40 8 70 20 60
yiol 50 60 50 40 200

1. m elaaiol A4 y-2t8 U C syedl vids vig studl yviid weilsa dndl,

2. -2 ato ol 2 (3, -2) Pgnial waur adl Yreud wilse dadl,

(@81 y=x+6x"— 15x + 7 <[l v 2l Yt Budl din.
C Al
[Azanag 4 [AuHl sypual.

T wlAlsyeL Hed g 2 Y vulsy=tdl gzl w4 GuAlll sygudl,

oy

10

10

10
10

10

10

10

10

10
10



